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SEE ALSO

1. EMb7000 series contain infrared function ( EMb7001 and EMb7400
don't have infrared function ) which can generate 38K Hz
square wave to ouside world fromport 3.2 whenever it needs.

2. To activate infrared function, progranmer should control bit 2,
bit3 and bit4 of node register

When bit4, 3,2 of node register is "101", infrared function wll
be activated.
When bit4, 3,2 of node register is "000", infrared function wll
be di sabl ed.

MODE = 101?B => Enable infrared function.

MODE = 000?B => Disable infrared function.

Note that for bit O of node register we mark it as ? neans this
bit can be "1" or "0". This bit have no relation with infrared
function.

bit O of MODE register can be used to enabl e/disable flash with
vol une.

3. User will need to enable port 3.2 by seting bit 2 of P3S as "0"
so that 38K Hz square wave can send to outside world. But status
of Port 3.2 can be "1" or "O"

4. Followng is a sinple exanple, it showyou howto inplenent infrared
function :

MOV A #0000B ; Enable port 3.2

MOV P3S A
MOV A #0100B ; Initial status of port 3.2 is "1"
MOV P3 A

Sl G\1:

MOV A #1010B ; Send out 38 K Hz square
MOV MODE A
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RSTC
DELAY1: ; P3.2 = 38K Hz
CIC SIG\ ; for 8 nB
JMP  DELAY1
SI G\2:
MV A #0000B ; Stop 38 K Hz square
MOV MODE A
DELAY2: ; P3.2 =1
CIC SIG\3 ; for 8 nB
JWP  DELAY2
Sl GN\3:

MOV A #1010B ; Send out 38 K Hz square again
MOV MODE A

RSTC

DELAY3: ;, P3.2 = 38K Hz
aCc sIGwd ; for 8 nB
JWP  DELAY3

Sl G\4:



